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commandwindow

File Edit View Inset Tools Desktop Window Help

clear
clec

DS R ARRODLAL- (S| 08| aD

close all

syms ©

values=[]

t=1:1:500

mean=1000-( (exp(-0.05*t) ) *800)

y=1000+(50/1.0025) *sin(t)+(2.5/1.0025) *cos (t)-((exp(-0.05*t)) *802.¢

if rem(t,2) ==0
values=[values,mean])
else
values=[values,y]
end
excelvalues=transpose (values)
mins=transpose(t)
ploct (t,values)
grid on
grid minor
xlabel ('time (mins)')
ylabel ('volume (litres) ')
xlswrite('odevbesdata.xlsx',{'t (min)"'}, 'veriler', 'Al')
xlswrite ('odevbesdata.xlsx’', mins, ‘veriler', 'A2*)

xlswrite ('odevbesdata.xlsx’,{'V(Litze) "), 'verilex','B1l")
xlswrite('odevbesdata.xlsx',excelvalues, 'verilex','B2"')
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8 commandwindow
= clear
3= clc
4=~ close all
S syms m t
€ - t = [0:0,5:7.5])
7- m= 204 - 1890%exp(-0.025%(t))
8- plot(t,m)
9 = xlabel ('time (hr) ')
10 = ylabel ("m(pounds) ")
1¥= grid on
12'= grid minor
Command Window
L=
0 0.5000 1.0000 1.5000 2.0000
m=
1.0e403 *
-1.6860 -1.6625 -1.6393 -1.6164 -1,5938
Jx >>

2.5000

-1,5715

|4\ Figure 1 3 a X
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] -1600
-1650
3.000 1700 i\ A n
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time (hr)
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if rem(t,2) ==0 . 800 i |

values=[values, mean] 3
else i_i" 700 g

values=[values,y] E
end % 600 -
excelvalues=transpose (values) >
mins=transpose(t) 500 ’
ploct (t,values)
grid on 400
grid minox |
xlabel ('time (mins)’') 300
ylabel ('volume (litres)') 200 1 [y 1 1 i i i i L
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xlswrite ('odevbesdata.xlsx’', mins, ‘veriler', 'A2*) ﬁme(mins)
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